the effect) in the book,
g the cause.

Directiqns:
The first p¥ @ sentences below tell who »\
) erge by :

e
Grumpy Gr& o0g. Complete each's

Groundhog wanted to because

fast in bed becouse§

got sunglasses because

Groundhog

The chilly weather wil ause

e cause is why som




C

Grumpy G

Groundhog wanted to

The first p @ appe
wPiog. Complete each senterize by 22

because he was hibegnating.

Grui
aed (the effect) in the book,

g the cause.

o

Groundhog

fast in bed because

ed

come out until he

e cause is why some




